DISTRIBUTOR, SPARK PLUGS DISTRIBUTOR

Note: Distributor parts fits all models and years that use a 32 | 45009 | Set screw: Sleeve | 36-53
distributor. Please be aware that at the time of writing this catalog 33 | 41373 Sleeve: Distributor 36-53
there are some Inferior quality parts on the market that are causing 34 | 606008 Nut: Hex %"-28 5/pk 36-53
road side breakdowns. All Kiwi distributor parts are of extremely 35 | 922006 Washer- Lock '" 5/pk 36-53
high quality so you won't be left stranded on the roadside. :
36 | 100622 Clamp: Advance 36-53
86759 Distributor: Without advance 38-53 Screw kl?t' 8-32 x 91¢"
mechanism (order separately) - 37 | 100623-K (inci #38) 16 36-53
1 101559 Bracket: Points mounting 36-53 38 | 100623-K Nut: 8-32 Square #37 36-53
2 | 922002 Washer: Lock, #6 (2) bpk 36-53 39 | 50183 Felt: Body to oil pump 36-53
3 | 754103 |[Screw: 6-32 x %" Round head (2) 5/pk | 36-53 40 | 102972 Plate- Advance 36-53
4 | 100651 Locknut: Points adjusting 35-53 Screw Kit- 10-32 x 11"
5 | 40063 Points 35-53 41 | 100633-K (incl #42) 3653
6 | 100645 Terminal post 36-53 42 | 100633-K | Nut: 10-32 Square head (incl #41) | 36-53
7 | 100646 Insulating strip: Terminal post 36-53 43 | 100639 | Thrust washer: Body to advance plate | 36-53
Note: Kiwi insulating strip is made from hi temp heat 44 | 102481 Bushing: Shaft (2) 36-53
resistant plastic so as not to absorb moisture. This won’t 45 | KI-10315 Rivets: Autolite name plate, pr 36-53
leave you stranded like everybody else’s cardboard ones. 46 | KI1-10301 Autolite name plate 36-53
This is an essential upgrade. 47 | 101035 Body 36-53
8 102865 | Bushings: Terminal post insulating, pr | 36-53 48 | 40063-P Pin: Points pivot 36-53
9 100656 Condenser 35-53 49 102733 Cap 36-53
10 | 922003 Washer: Lock #8 5/pk 36-53 50 | 101032 Rotor 36-53
11 | 754202 | Screw: 8-32 X 316" Round head 5/pk | 36-53 51 101033 Shaft 36-37
12 | 920004 Washer: Flat #10 5/pk 36-53 51 | 101562 Shaft 38-53
13 | 922004 Washer: Lock: #10 5/pk 36-53 — -
12 | 922004 Was her_ ank 105/ pk 3653 Note: 36-37 distributors have a longer shaft to facilitate
asner. Lov i : the use of the 101030 helical gear fitted to their shaft.
15 | 604005 Nut: Hex 10-32 (2) S/pk 36-53 52 | 100631 Thrust washer: Shaft (2) 36-53
16 | 101563 Grease cup 36-53 54 | 101034 Collar: Shaft, drive end 36-53
17 | 100654 Hinge clip (2) 36-53 55 | 101031 Rivet: Shaft collar 36-37
18 | 922003 Washer: Lock #8 (2) 5/pk 36-53 55 | 101031 Rivet Gear 38-53
19 | 754203-P |Screw: 8-32 x 36" Pan head (2) 5/pk | 36-53 56 | 101030 Gear- Distr-ibutnr shaft 36-37
20 : 006835 SCrew. Tensu::rf, advance control | 36-53 o/ | 42228 | Rain Bonnet: For wet weather riding | 36-53
21 00637 | Thrust washer: Tension, advance control (2) | 36-53 58 [102733-D Cap- Suits dual firing coi T
22 | 100636 Tension washer: Advance control | 36-53 59 | KI-10300 | Tune up kit' Incl #5. 9, 49, 50, 60 (2) | 36-53
23 | 635004 |[Swivel: Cable attaching (incl #24, 25, 26) | 36-53 : — P p——
60 [1802001-S |Indian script spark plug “C” heat range | 34-53
24 | 754203 Screw: 8-32 x 14" 36-53 — : P p_ P9 : J _
25 | 920003 Washer- Elat #8 36-53 Note: This is a real Indian script spark plug with “Indian C”
— _ heat range made into the porcelain during the manufacturing
26 | 636004 cotter pin: Yre'x’k, incl with #23 | 36-59 process. Plug comes in its own original Indian box.
28 | 42831 wTToorerng Sono cane | o 60 | 1802001 |Spark plug: Regular, gentine Autolite (2)] 34-53
ontrol cable: Made from i - -
29 | 40129/0 | hiend non-corroding stainless steel 36-52 61 | KI-10306 EIECII’UOIC.IQF_IIFIDH, ov
) 61 |KI-10306-V Electronic ignition, 12v 36-53
30 | 607003 Nut: Control cable lock (3) 36-53 :
31 | 314013 “L” Bracket: Control cable 3653 62 | 6610035 Clear sight plug. al
Note: This plug screws into the timing hole at the top of the
Note: Pre 47 models advance cables were held from the crankcase and allows use of electronic timing lights
coil bracket which is too far away from the distributor while the engine is running
which causes the cable to flex excessively. We advise fitting
36-46 distributﬂ_r_mndels with this “L” bracket so as to get a
positive feel to advance and retard. Rebuilding service: We also offer rebuilding services
for your distributor in our service dept. ALBANITE INSULATED

#60 Indian Script spark plug

MOTORCYCLES

45



